
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
Sales	
  Wachstum:	
  sum_sales[_n]-­‐sum_sales[_n-­‐1])/sum_sales[_n-­‐1]	
  
	
  
Industry	
  1 	
   	
  
country	
  ger	
  	
  
Jahr	
  1	
  

	
  
Industry	
  2 	
   	
  
Country	
  fr	
  	
  
Jahr	
  1	
  
	
  
Industry	
  1 	
   	
  
Country	
  ger	
  	
  
Jahr	
  2	
  
	
  
Industry	
  2 	
   	
  
Country	
  fr	
  	
  
Jahr	
  2	
  
	
  
	
  

	
  

(16-­‐0)/0=.	
  

(13-­‐0)/0=.	
  

(13-­‐16)/16=	
  -­‐0.1875	
  

(15-­‐13)/13=	
  0.1538	
  


